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1) "A" on 8th course omitted per Besard's errata.

Thesaurus Harmonicus (1603), f.95v. Encoded and edited by Sarge Gerbode.




Fe)

.arda

S bab?d

O bdabp

Fele)

ar

dra

-l .aro
Ob o

Oba

o =0
S
[ la
Q
1 _M
o | |s
O | la
g 1o
-a o
DDrb
8 gq | 0
[
<Q
0
g -
@
sl o
Ol
T
Com o
F i
<Q
[ 0
g
118 0
o | Y
Q9
> | O
<Q
g 0
QO
yo.
0
oy
m- 3
o 3 0
T
N O
0
[ =0
VAR
<
L e
o o

o laduame
L
[ o
[ W]
Q
-Q
490 |9
S
QQs O
-Q
S o
O
[ o
N 1a
-Q
T |7
o 0
T -Q
T Q
H— u
o S
— Ab
1 -Q
H 9
- -Q
m 9
1 1 Ab
1 -Q
= 9
Q
M 1d
oL 0
[ W]
M o
o u 0
oL 0
[ 5
Q
[ W]
M o
o —L.b
S
L
[ W)
S
o b
8 gq | 0

Fe)

£95. b Tbd
oQr

bo

Fe)

T 199> r_

£9
a

£ede
£¥oF

T AR LR B B R Eﬁ%ﬁ?ﬁ

> i hPdDED r D

b & 3
£ rra

o)

g £9

O
ar o

1] A A

pe) bbCLAA

g9

M I
1 Q
- 1o
- I o
/0
EH -0 -Q
__ o)
H— —QOHST
H— 9
H—  Qag 0O
T— -Q
H— A
H— 9 o
UL _q
|,
oL 49
<
49
/0
49
po o
-
o 49
v o S
- | 0
o)
L | o
49
[ lo
oL 49
o (o Ab
mC
-
po. o
L)
ol
[ &
I o
49
L 5
49
111
o 1a o)
yo)
% Ab
49

1

a

‘R ERER IR ER

i

2

inlinnp

4 Q0
<Q =H Abb
20 VA 49
o1 Q
O Ab _”_”_H Abb a
<Q _ 0
s T— QY .0
— T— 4
S L o
o °
-M g
! Qq
Ab 1 b
[aq 0 W o
. L)
Vo %wb u
a | 0
o1
Je) Je V|%aq
L)
S S T | B
yo. T "7
Q ke — Q
o1 o
o] o I | H
490 i I
QQ I Q
o le - S0
Q Q
49 EH 9 19
o) o H g
/0
" | IR
I N
HO0 G la
yore v e" " - S
Y| P2 @
N Q-
wo s || glllo
o 8 _q0
QAQ PN Sol g
g | O
L)
s || Jo C s
- e s
po. e
Q| 7|
b N
5 IC .
aaHO | = &SRO

¢ g

2R
£¥a

e
£ 99+

o b

b o

1

1

g

1

b

o f

1) Rhythm flag double valuein orig.
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1) Note one course higher in orig.
2) Sic -- perhapsthis should bea "b"?



